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Question Number : 1 Question Id : 1785675643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtipIE Choice Question

The National Anthem of India was first sung in :

Options :
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1911 at Kolkata Session of the Indian National C Oongress.
| AT T UG $ 1911 & Blerdrar e J |

1911 at Kolkata Seszion of the Rashtriva Sewak Sangh.
o TSI qa® HH & 1911 % Brerehran SHferaer # |

1927 at Lahore Session of the Indian National Congress.
o HIRCI I B & 1927 & AER Afeder 7|

1947 at Nagpur Session of the Rashtriya Swayam Sevak Sangh.

o TR X0 WS W & 1947 & AFTYR SfeaerT H|

Question Number : 2 Question Id : 1785675644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
The mind of the makers of the Constitutions of India is reflected in the -
AR Giaa & el & | aRkaién g8l 2
Options :
Fundamental Rights

, HIferd SR

Fundamental Duties

> Iﬂl Eﬁ(}? {'ﬁ T | CJ]

Preamble
3. SANIER]

Directive Principle of State Policy

4W?ﬁ:ﬁfﬁﬁrﬁf‘ﬂ?ﬁaﬁl

Question Number : 3 Question Id : 1785675645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The colour of wheel (chakra) in the National Flag of India is :
HRA & ICEas] | b &1 91 8 -
Options :

Black

1 {'}Jh:‘”
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Navy Blue
o) Tax] ;iI{;H

Green

Question Number : 4 Question Id : 1785675646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

National Emergency can be declared under the Constitution of India by
invoking the provisions of :

YA § I IATUTadiel Afae @ g Ugar &1 94T &Xd ardl ol Jabdl ©

Options :
Article 3

| T 3

ol

2
2

LJI

Article 356

I 356

2.

Article 360
- T . r-;
_ T 360

Article 370

, FTHT 370

Question Number : 5 Question Id : 1785675647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

'Indian Opinion’ paper was started by :

3USTT AMAFIT I P YB3 BT T

Options :
Gandhiji
g, TSR ETRT

Tilak
GE 3
, [P &R

collegedunia:

India’s largest Student Review Platform



Gokhale
2 T e

Swami Vivekanand
4 wWrEl faaa—< 8N

Question Number : 6 Question Id : 1785675648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Montague-Chelmsford proposals were related to
IIIUE"__‘!'I(I AHARIE UETd AT o
Options :
Police Reform
o I ;
, IfeE o |

Administrative Reform
, VS GER 9

Social Reform

3W‘r:§m¥ﬁ

Constitutional Reform

rd h € :
, T g 3

Question Number : 7 Question Id : 1785675649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

The treaty of Allahabad was concluded between :
goEEG 9t 8% ¢
Options :

Lord Clive and Shuja-ud-Daulah
; e Tegd 3R YA-S-arddl & Hel

Lord Clive and Shah Alam II
4 e ToIed 3R IME 3ad II & 92

Lord Clive and Shuja-ud-Daulah and Shah Alam II
difs @oigd U4 YOIl-S-aroll 3R 98 Ao I1 & Hed

=

-

el
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Lord Clive and Mir Qasim
4 CfS F1Ed SR 4R ®IRE & 7ed

Question Number : 8 Question Id : 1785675650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Udhyam Abhilasha, a National Level Entrepreneurship Awareness Campaign
is lauched by :

IUH AT, F UH W WN B SR ArTSedl AWaE 8 99 uReT e
T

Options :
Exim Bank

NABARD
qJraTe BT

SIDBI
fgedl g™

IFCI
" 3ATgo Uho Wlo 3o BRI

Question Number : 9 Question Id : 1785675651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which company has become India’s largest tax payer in private sector ?
PIF-A1 DI S H o & § 99 a1 HRardr &l 8 7
Options :
ICICI Bank
1 3ﬂ'§jf:} Qﬁt.‘) WU Q:ﬁ-‘.;‘r 3]’@;(} ':":IT.’B

Reliance Industries

. T s

Tata Steel
cTe] Wial

3
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TCS
4 ?fTo Qfﬁo THo

Question Number : 10 Question Id : 1785675652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Who recommends the MSP and issue prices ?
THo T¥o Hlo Uq f9HA H1Hd &1 AT B Bl 2 7
Options :

Ministry of Agriculture

Planning Commission
2 I b b

Commission for Agricultural Costs and Price (CACP)
4 P ATTA UG AT SAFT (FioYoHioTlo)

Question Number : 11 Question Id : 1785675653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Black revolution is related to
Options :

Fish Production

Hoell Icdied 9

1

Coal Production
2 rf;[n']i;ll BEKIIE.H T-;"-!

Crude Qil Production
=l O IS 9

3

Mustard Production
4 IRl SAIEH ¥
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Question Number : 12 Question Id : 1785675654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a biotic element of environment ?
ferRad & O &I9 IIiaRy] &1 Wfde od 78 8 7
Options :

Soil

i =l

Plants
o UM

Animals
CIGEE

Bacteria

Question Number : 13 Question Id : 1785675655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

The Mohiniattam dance form was developed in :
Aifeeres Ja fafty fawfoa g8 of
Options :
Andhra Pradesh
, AT o9l §
Karnataka
.y G | [
Kerala
3. fi-.}‘.‘zﬂil q

Tamil Nadu
4 '.LI qq- ’;I'”%I Iq

Question Number : 14 Question Id : 1785675656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question
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Where is Kandari}-'a Mahadeo Temple situated ?
FoRYT H8led Hfex ®El g g 7

Options :
‘-‘-
Sarnath
IEGIE

Konark

&

CANIET
Khajuraho

3 @@QE%I

Sanchi

4 T

Question Number : 15 Question Id : 1785675657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

Which of the tollowing was not a centre of Buddhist Art ?
=1 § § B9 dlgdoll BT B TJa8r a7 ?

Options :
Sarnath

1 L IEG IR ]

Gandhar

2. T

Mathura
3 gV

Vatapi

4, T

Question Number : 16 Question Id : 1785675658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which country won FIFA World Cup Football tournament, 2018 held in Russia ?

& H gU BIWT f[99q & Bedra Ui, 2018 f&g <9 9 Sl ?

Options :
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France

Brazil

Argent'ma

AATIET

German}'

SEA]

Question Number : 17 Question Id : 1785675659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

Which country hosted 2013 Mens Hockey World Cup Tournament ?
2018 ¥ 8V Uy faeg &y el uicaiiiar &1 i feg ger 9 faar on ?

Options :
Gernmn}'

Australia

31|\'f|31?}|

Argenti.na
= W\J -t x

India

Question Number : 18 Question Id : 1785675660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
'‘Chinaman’ is a term associated with which of the following sports ?
A Ug (H) g 9a 9 Je1 8 ?
Options :
Badminton

GG

1:
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Table Tennis

5 ﬁ'f-l i &iq s

Cricket

3 [T

Football

, T

Question Number : 19 Question Id : 1785675661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Oscar award winning film named 'Period. End of Sentence' deals with stigma
attached with :
IHTEHY Aldd a1l oo 'UivTS/ UUg 3% dcw g IHRIT & UIsl/&am™ 9 gaied
off ?
Options :

Leprosy

1 B

Menstruation

2 d

Daowry
3

Acid Attack
, UfES 3THHT

Question Number : 20 Question Id : 1785675662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Who is the Governor of the Reserve Bank of India ?
Options :

Urjit Patel
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Raghuram Rajan

, YR o

Shashikanta Das

S‘ETf‘-?i?ﬁT—_tﬂm

Ajit Doval
) 3ford SETe

Question Number : 21 Question Id : 1785675663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

'Mission Shakti’ recently in news is related to:

I BT wEER H HyE ufeg 9= 2

Options :
Anti-satellite Mizsile
1 Q Ué"‘:lx:l E\_,C;”.JE i |12|q:||‘€5 G

EMISAT =zatellite
5 Ui dcalsc

Women E mpowerin ent

3trfé'-mmrﬁ?ﬂm

Military operation
4 - '

Question Number : 22 Question Id : 1785675664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

National Space Agency ISRO signed agreement with which country to set up a
joint maritime surveillance system ?

T JAaike Toidl dfge THe 3Ro e (36X) A 9 <9 & WY Hgad I9a)
R sraRn enfud @v- & fore waEian fear 2 2
Options :

United States of America

| AgF T IHRDT
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Question Number : 23 Question Id : 1785675665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The provision for constitution of Finance Commission is in Article :
fay SRIFT & Ted & fog uEe g T
Options :
2380

Question Number : 24 Question Id : 1785675666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

An area can be declared as 'Scheduled Area’ by the:
ferdl &= &1 ‘Sgyfad a3 aiiva B & g € ¢

Options :
Parliament

Y Hdg gl

State T_egislative Aszembly

, I CARCEIGE L IREAE]
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Prezident

3?1@%51‘1’1

Governor

4 XIVqUlel gIXl

Question Number : 25 Question Id : 1785675667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

The nature of Constitution of India is :
Options :
Unitary

1 UdicHd

Quasi-Federal
’ HE-HHTHD

Neither Unitary nor Federal

4HW;}TT?:[¥TW

Question Number : 26 Question Id : 1785675668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The Concurrent List of Schedule VII of the Constitution of India has -

4N & WfaE & SERE VIIS el @ 4 €

Options :
97 items

| 97 Hg

606 1tems

5 66 HS
47 items
47 Hq

g

collegedunia:

India’s largest Student Review Platform



25 items
25 Hg

Question Number : 27 Question Id : 1785675669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The University Grants Commission (UGC) in Indiais a:
YR ¥ fazafdenerd e AT (Josiloio) € T

Options :
Statutory body

\'ﬂ.iaiﬂtﬁ ]}-Itﬁli’l

Quasi-judicial body

>, Ag-~mas FEr

Constitutional body

5 Afaer=e Haera

Instrumentality of Union Government

4 BT GIBR BT AHB]

Question Number : 28 Question Id : 1785675670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The administrators of Union Territories are designﬂted as:

Options :
Lieutenant Governor

lﬁ ¢

Chief Commissioner

, A5 BER

Administrator

All of the three
P L A
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Question Number : 29 Question Id : 1785675671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The states of Punjab and Haryvana created in 1966 were on the recommendation

of :
a9 1966 H UWTd 3N SRATOT T F ot BT 3737 :

Options :
Mahajan Commission

Dass Commission

Shah Commission

i g AR

Dhar Commission

4 ER AT B AT W

Question Number : 30 Question Id : 1785675672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Angkor Vat temple is situated in which country ?
HTPRATE Ay fod 391 4 Reyg 2 2
Options :

Cambodia

P HE[IST

B

Nepal
JUTe

Greece

5 &

Indonesia
i SUS 9]
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section I1

Section Id : 17856793

Section Number : 2

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 27

Number of Questions to be attempted: 27

Section Marks: 90

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 178567137
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 1785675673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

'A + B means 'A' is the son of B; 'A — B’ means ‘A’ is the wite of B'; A X B' means
A is the brother of B; 'A + B' means 'A’ is the mother of 'B' and 'A = B' meanz ‘A’
is the sister of B. Whatizs does P+ R — Q mean ?
A+B & 3 'A,B® [3 8, 'A—B & JJ A", 'B & Uil € 'A X B B U A,
B @ WE T;'A + B & 3Rf'A’, B @ Al € GAT'A = B' &1 3Rf ‘A, 'B' @l 989 T
P+R—QT Ty 3 g ?
Options :

Q is the father of P
, QP far 2

Qisthesonof P
, QPF TA &

Q is the uncle of P
. QP IPpd

Q is the brother of P
, QP a2 2

Question Number : 32 Question Id : 1785675674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What replaces question mark (?) in the series given below :

A QU 10 g@err | ugHargs fOg (2) @ &8 41 8
88, 64, 24, ?
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Options :

0

"...J-]

Question Number : 33 Question Id : 1785675675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What should come in the place of question mark (?) in the following series
M el § U9 &8 (2) & WIE WR &1 =1 918y 7
CO3KP, DO4KQ, EO5KR, FO6KS, ?

Options :

GO/KP
1.

s GOG6KT
. GO6KP

GO7KI
4.

Question Number : 34 Question Id : 1785675676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In the fnllm«f:ing series, one number is wrong. Find out the wrong number :
fFrforiad S@e H Ud F%R Tad 2 | TTeld | qn ¢
100, 97, 90, 86, 76, 71, 62, 55
Options :
899

1.

62
Z
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Question Number : 35 Question Id : 1785675677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

If A means '+, B means -/, C means X/, then find the value of following
equation :
afe A &1 Haoid '+, B &1 Hdad —', C &I Jadd X' 8, o fA=feriad ey &1 94
ST &Y
46 A2B3C4=?
Options :
34

Question Number : 36 Question Id : 1785675678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Find the region that represents those rural students who are not intelligent ?
99 &3 B Faid W 9 THE BE @ Uaiie dar 2 W gfedH T8 2 ?

Rural (ITH07)

/ /
B| C .
LE Students (BT7)
F

— Intelligent (FfEH)

Options :
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Question Number : 37 Question Id : 1785675679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : I‘?‘IUltip]E Choice Question

If 'AX D' means 'A’ is sister of 'D’, 'A + D' means D' is the daughter of ‘A" and
'A + D' means 'A’ is the mother of 'D’, then how will 'N' is the aunt of 'M' be
denoted ?
afe 'A x D' &1 5ddld 'A', 'D' # 9849 8, 'A + D' &1 #add ‘D', ‘A’ & 9T B 3R
'A+D & 7ddd 'A’, ' D' &I |5 €, 9 'N', M & ardl & da Hsiid e 2
Options :

M+LxN

LxXxN-M
M=-L+N

NxL+M

Question Number : 38 Question Id : 1785675680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A watch, which gains uniformly is 2 min slow at noon on Monday and is 4 min.
48s fast at 2 pm on the following Monday. At what time it was correct ?
U el f9H 999 9919 $U 9 9¢ 81 8, 91 9HH &9 9HaR B guE § 2 {49
191 € 3N 3FTel HaR &l SIUEY 2 94, 4 fF9¢ 48 9ave O & | 98 69 95T 92l
oA 7
Options :

2 pmon Tuesday

HTAdIN BT 2 pm W
)
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2 pm on Wednesday
gHaN BT 2 pm W
2.

3 pm on Thursday
g JEWIdaN 1 3 pm T

I pm on Friday

’ 9EhaR B 1l pm W

Question Number : 39 Question Id : 1785675681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If the Republic Day of India in 1930, falls on Saturday, X was born on March 3,
1980 and Y is older to X by four days, then Y's birthday fell on :

afg 1980 H ¥Rd &1 TUA feay, 9-aR &I 9sdl 8, X &1 w9 3 |6, 1930 &1 8
IRY,XT AR fGA a1 8, A Y &1 e fpa e 8 7

Options :

Thursday
: JEIar

Friday
-c_J ﬂi' a | h 4

Wednesday
qHdIN

Saturday

Ifar

Question Number : 40 Question Id : 1785675682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Six persons are sitting in a circle. A is facing B. B is to the right of E and left of
C. C iz to the lett of D. F is to the right of A. Now, D exchanges his seat with F
and E with B. Who will be sitting to the left of D ?

G NHG ARTICZIABI IR EIBEF IR ARCHFI AL IRLIC, DS
e INE2IF ADSEINEI 39 D, F& TN IINRE, B & AU U+ W &I
ATETH-UETH HYd 21D 914 3R HiF o1 8 7

Options :

B
1.

&

Question Number : 41 Question Id : 1785675683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Six persons are sitting along a dining table to have dinner. B is between F and
C. A is between E and D and F is to the left of D. Who is between A and F ?

B iad f&R & & [ SEHT Cda WS ZIFARC S FA BEIERD &
9 AZIARFED® 18 IR 21A RE® 4 & & 7

Options :

jo

D

Question Number : 42 Question Id : 1785675684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Question is followed by two statements numberd I and II. Decide whether
the data given in the statements are sufficient to answer the question.
Mark answer as :

wee & drg al & I &R I f@u 1w 8| au &8 % gyog o1 5w &9 & fan
FoE | AT T s1er garet & a1 A8 | 9N & w9 H fHftea @

Who tvpe at a faster rate, Navin or Sapna ?

A AT WU, B d &Y 9 gy Hedr g ¢

I. The difference betveen their tvping rates is 10 words per nunute.
SHET TS &9 % drg @ s 10 e ufa e 2

II. Sapna types at a constant rate of 80 words per minute.
wu=n ufa Fae S0 vl @ s FifFEa v 9 @y B 2

Options :
If Statement I alone is sufficient but statement II alone is not sufticient to answer

the question.
afe e wE 1uandg 2, afthd dae e I gare 981 & |

1.
If Statement II alone is sufficient but statement I alone is not sufficient to answer
the question.

5 Afe wae FuE I oara 8, afe dad &= Ioara 2 2
If both Statement I and II together are sufficient to answer the question but neither
statement alons is sufficient.

5 AR @ FF T8iR e § St &9 & fag gara & afb= swerr-orent yara =8 & |

If Statement I and II together are not sufficient to answer the question.

4?TF?:E:F|T' T e & D wne § 9ov 89 @ fav gara =8 & |

Question Number : 43 Question Id : 1785675685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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Question is followed by two statements numberd I and II. Decide whether
the data given in the statements are sufficient to answer the question.
Mark answer as :

g3 % are 51 v I aR I 3o o 2 aa &Y 6 g9 @ 9% &9 @ faw
werd | & T e gar & A A48 | St & w9 # faftea @

If we assume a constant reading rate, can Sunil finish the book in 6 hours ?

AfE 89 UF FveR wgA @ @Y A9 od B, @ 3 g [ $ e "e | e
Hen 2 7

I.  Sunil reads 54 pages an hour.

WHe U He H 54 S v # |

II. In2hours, he reads half the books.
2 g H 98 fhae & am B &1 ugar 21

Options :
If Statement I alone is sufficient but statement II alone is not sufficient to answer
the question.

i afe waer w99 1uara 2 fes 9 o9 I gar 981 2

If Statement II alone is sufficient but statement I alone is not sufficient to answer
the question.
Afe dael & I oare 8, dfed dad &2 1o 981 2|

If both Statement I and II together are sufficient to answer the question but neither
statement alons is sufficient.
5 A SF w2 16k OH § ST & % feru g & wiftss senr-aenT yare 921 & |

If Statement I and II together are not sufficient to answer the question.

g g P 1 AR Dy § 99 &4 & fav gyana =8 2 |

Question Number : 44 Question Id : 1785675686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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Question is followed by two statements numberd I and II. Decide whether
the data given in the statements are sufficient to answer the question.

Mark answer as :

s @ arg &l w1 an IO fau v 8| au &9 {6 gyee o s 29 @ faw
Hee | ST T srer garg & W A8 | 9N & w9 # fEftea w5
In a certain packing house, grapefruits are packed in bags and the bags are
packed in cases. How manyv grapefruits are in each case, that is packed ?
U Ui BTEE, SFR @ H UW U W ® A @ @ @i | 9w ey o 2|
verd fea #/ fhas i@ 2 @ fb 9% i e 2 7

I.  The grapefruits always packed 5 to a bag and the bags are always packed 8
to a case.
BT US4 H 5 Y Ud fEm A & AR gHen uw fEe W 8 @ U@
AT B |

II. Each case is always 80% full.
g fe@ #H e 80% ¥ B # |
Options :
If Statement I alone is sufficient but statement II alone is not sufficient to answer
the question.
y @ waer woe Tara 8, Afths daet w9 19 =48 2|

If Statement II alone is sufficient but statement I alone is not sufficient to answer
the question.
afe @ae e M wre 8, afds @ae d29 [oara 98 2|

If both Statement I and II together are sufficient to answer the question but neither
statement alons is sufficient.
A &l dE e e § 999 &1 & fau g 2 affsa swerr-se gare 78 2 |

If Statement I and II together are not sufficient to answer the question.
Ofe g da ] R D9y 7 S8 89 & fay A 98l |

Question Number : 45 Question Id : 1785675687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

-
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All the surfaces of cube of 15 cm side are painted with red colour and then it is
cut into smaller cubes of 3 cm side. Then, how many smaller cubes are there
having only one surface painted with red colour ?

15 9H1 oIl dicl @9 &1 WH1 Hel DI ot T 9 T I € 3R Y 39 3 9
ol arel BIc geq d @ic fear omar 21 ar fhaw oic @ 2 57H $ad & 2
qaE AA FTA T g 28 7

Options :
13

24

36

Ln
N

Sub-Section Number: P
Sub-Section Id: 178567138
Question Shuffling Allowed : Yes

Question Id : 1785675688 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes
Question Numbers : (46 to 48)

Question Label : Comprehension
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Read the following pie-chart carefully and answer the questions given :
fr=fafad o8 o eaFyd® Ue SR faU 1Y 9el &1 ST <

Diztribution of total voters from zix different citiez and distribution of female voters
among these cities.

O JAT-HT B Bl HAaEsdl &1 fdavvr AR 39 U $ 4t Afeen ddcrasi &
fereroT |

Total number of voters = 64,000 Percentage distribution of female voters
&l FAQTASI B HET = 64,000 AfeeT Adararsi &1 uferd faaxo

Ratio of males and females =5:3

T 3N Al &1 I =53

Sub questions

Question Number : 46 Question Id : 1785675689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The number of male voters in city F is approximately what percent of the
number of voters in the same city (approx.) ?

¥R FH U9 HAIdIs & G S91 e H HASTaidl &l & &1 ST+ Jia9d g

Options :

43
L.

Question Number : 47 Question Id : 1785675690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
gcollegedumaa
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Question Label : Multiple Choice Question
What is the average number of female voters in city A, B and E together ?
9eY A, BIIREH Ua 9ol Afec Jagransil & 3iad &= &1 8 7

Options :

4200
1.

2300
3200

2400

Question Number : 48 Question Id : 1785675691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The number of male voters in city C is what percent of the number of male
voters in city D (approx.) ?

e C § U9 Adqasll &1 G X D d J&Y Hdcrarsil b G &1 e
ufarerd @ (eRTT) ?

Options :

25

1.

48
2.

Sub-Section Number: 3
Sub-Section Id: 178567139
Question Shuffling Allowed : Yes

Question Number : 49 Question Id : 1785675692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question
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Two statements are given below followed by two conclusions I and IL
You have to consider the two statements to be true even if they seem to be at
variance with commonly known facts. You have to decide which of the
conclusions, if any follow from the given statements. Give answer

al e & are a1 e 1 e I " @ T 2 | s &1 S &1 9 "9 8
G T B B M | T S L B R s I I | B R e

g fr fev o wuEt |4 9 we- fAwey, afg @2 71 o1 9oy °

Statements: 1. Some books are magazine.
FeT : Fw fhard afsen & |

II. Some magazines are novels.
Y UEEIT ST E |

Conclusions : 1. Some books are novels.

II. Some novels are magazines.
wE ST BTG E |
Options :
Only I follows

’ Faa 1 SFHe dvdl 8

Only II follows
o B II STTET Hell B

Both I and II follovws
, 1ug II &= e &vd 2

Neither I nor II follows

4=rﬁ'lI=nﬁ1He-r—_13=rMWJ B

Question Number : 50 Question Id : 1785675693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Two statements are given below followed by two conclusions I and IL
You have to consider the two statements to be true even if they seem to be at
variance with commonly known facts. You have to decide which of the
conclusions, if any follow from the given statements. Give answer :

a1 T & arg o g 1oy 0 e &3 73 &) smaar &7 B ® 9o |JEA 8
s e | R 1 e s T e o B W L i ol i G b

I D O Eo e i 2 B e A O 5 L o O e ) = M [ A B

Statements: 1. All good hockev plavers are in the Indian hockey team

Fe : a1 d= Bie Reonst ywd st & | 2|

II. X' is not a good hockev plaver.

X' v d=91 Eidt Raenst =8 2|

Conclusions : I. 'X is not in the Indian hockev team.

iy : X wredr S A A ad B

II. X wants to be in the Indian hockey team.
X' wre g M A wnfHel g1 A g |

Options :
Only I follows

’ Faa 1 SFHe dvdl 8

Only II follows
o B II STTET Hell B

Both I and II follovws
, 1ug II &= e &vd 2

Neither I nor II follows

4=rﬁ'lI=nﬁ1He-r—_13=rMWJ B

Question Number : 51 Question Id : 1785675694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

gcollegeduniaa

el



Two statements are given below followed by two conclusions I and IL

You have to consider the two statements to be true even if they seem to be at
variance with commonly known facts. You have to decide which of the

conclusions, if any follow from the given statements. Give answer

& A & arg a1 e 1 e I A\ @ a8 | s &1 S B we e g
qel B 9 WHE: S a2l & Wi [@ENer B w1 gl AR a9 e

BN {6 f&n o e | W e A, afy wig 8, @ s w

Statements : 1. Some scales are pencils.
FYT : HY Tl dfEe 2 |
II. Some erasers are pencils.
&Y &g el 2|

Conclusions : I. Some pencils are erasers.
forat : ®HY ufHe W |
II. Some pencils are scales.
T gi¥e T ¢ |
Options :
Only I follows
; Fad 1 SR @ §

Only II tollows
o A I ST vl &

Both I and II follows
" 1ug II &= e &vd 2

Neither I nor II follows

4ﬂﬁllmmnmmﬁ%

Question Number : 52 Question Id : 1785675695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A solid cube has been formed with 64 smaller cubes. How many smaller cubes
are completely invisible ?

64 BIC U9 & 1T U 19 U9 a1 1 2| fhad BIc o9 [ R ¥ g9 © 7
Options :

2
1.
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Question Number : 53 Question Id : 1785675696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Pointing towards a person in a photograph, Anjali said, "He is the only son of
the father of my sister's brother”. How is that person related to Anjali ?

BICHT® H i &1 AR I B Y SAuiell 1 dal b, 98 A 989 & 9% &
foT &1 GhAr= I3 €7 | I Afdd &1 JAsiell § a1 Hay g ?

Options :
Anjali's Father

| St & fir

Anjali's Mother
o SIGTC @I ATl

Anjali's Brother

3 Tl BT HTE

Maternal Uncle
4, HTHI

Question Number : 54 Question Id : 1785675697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Chooze the word which is least like the other words :
eTes BT MY 1 I el Bl Hifd HH F HH HolT 2 ¢
Options :

Pineapple

1

Orange

2.
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Malta

g HICIC]

Banana

bt

4.W

Question Number : 55 Question Id : 1785675698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Rohit walked 25 meters towards South. Then he turned to his left and walked
20 meters. He then turned to his left and walked 25 meters. He again turned to
his right and walked 15 meters. At what distance is he from the starting point
and in which direction ?

ifed T @1 3R 25 Hiex Acid] TA1| 99 98 U4 91 G Ud 20 HleX dAdAd
T | TACIeET 98 UL a1 gl a9 25 Alex dody A1 | 98 U U ST {el Al
15 HIeX Ty AT | 98 ARMAS WE U fhd-l g3 W 2 T feq e § 2 7
Options :

35 metre, North

35 HIeY, IT%

30 metre, South

30 HIe3. SiE

35 metre, East

A =
3 35 Hiex, PRE]

30 metre, North
4 30 HIcY, 9%

Question Number : 56 Question Id : 1785675699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Complete the series 95, 1155, 138, .____..
oy 95,1155,138, ....... , 189 @1 URT BINAY :

Options :

160.5
1.
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166.5

Question Number : 57 Question Id : 1785675700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In the question below iz given a statement followed bv two conclusions
numbered [ and II. Give answer :
A fav o uvs | wes G o 2 e e @ e Iog I8 | Sav difem
Statement : Add colours to life - Use CAMLIN' colours,
FYT : o e 5 M B B B 1 ) e R 1 ) G 1 s Ll
Conclusions : 1. Catchv slogans do not attract people.
ey ST AN AT B IPE A Y 2 |

II. Water colours are preferred by people.

[ R S 1 | =4 R B B A 5 e |

Options :
It onlv I follows
y Ot Fae 1 a0 & 8

If only II follows
o Af& Tae I JTERT TR &

If either I or II follows
g afe = ar Lar ILaHevr avd @

If neither I nor II tollows
4 TR W IT & I ST TN B

Sub-Section Number: 4
Sub-Section Id: 178567140
Question Shuffling Allowed : Yes

Question Id : 1785675701 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes

Question Numbers : (58 to 59)
Question Label : Comprehension
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Study the following information and answer the questions given

Six students go to class on ditferent days of the week from Monday to Sunday, but one
dav of the week has no class. They also like different colours. E goes immediate before
C, who does not like white. The one who likes Blue, goes on Thursdav. F likes black
and goes on Tuesday. The one who likes Red, goez on Monday. D goes before B but
does not like White. There is three davs gap between F and A. There is one dav gap
between the davs on which the ones who like Blue and Yellow go. The one who likes
Green, goes after the one who likes in Yellow.

frafefla TTeRT &1 SEga= % 3R Ry 77 7e31 & gav Ao

Sy Gl O 1 e S 1 O 5 S G R e e 4 1 A s M e | e G O o
FIg el A8 B 8| S aenT-arenT Y i uoe 7| E, C 9 usd g¥d gon onen g, S A
UNHE A€ B | O Al gHE &l 2, 98 HaN & Wil 8 | F @1 @Ten 96e 8§ AN a8 Hiedan
@ AT B | O el THE dedl 8, 98 "Ean & w@al 8| D, B 9 usel wiven # i 9w
1 THE F8 dea 8| F 3w A & 4" a9 &3 o Jaw 2| o Aren i fiar owe s #
S% 4re Ud faF @1 R B A 8 UHe $dl 8, 98 Well 3 UHe §e il & ars o 2|

Sub questions

Question Number : 58 Question Id : 1785675702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which of the following colour does A like ?
PN L B 0 B e ) e S A s L
Options :

Blue

1 Alen

Yellow
o el

White
3 Ei ke i

Black
4, el

Question Number : 59 Question Id : 1785675703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
On which of the following days B goes to the class
A fa= 7 fee fa= &1 B e | o 2 7
Options :
Mondav
LG L

Sundav
o> YaaR
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5 dEwfan

Sub-Section Number: 5
Sub-Section Id: 178567141
Question Shuffling Allowed : Yes

Question Number : 60 Question Id : 1785675704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Read the following information and answer the questions given below :

1 R B o | I | s A i I - M 2 e | 1 e ) LA

‘A + B means A is daughter of B

‘A+B @ Aela #A, B g9 ®

‘A" B means A is the son of B

'A*B &1 Hada # A, B 43 &

‘A —-B means A is thewifeof B

'A-B @1 #oe1d 2 A, B# a0l B

How is A related to B ?

A®T BY @ Haa & 7

I P, the only son of A, has two sisters.
PSTATTUHFAE Y &, & &1 984 ¥ |

II. A'ssonis the brother of the only sister of B.
A® U3 B& vdmHs 98d @ A1S ¥

III. B and P are children of A
Bud P,A® @ & |

Options :

OnlvIand II

i Faa Tva Il

Only- 11
5 e 11

Only II and III
3$wH®m

None of three

e N B R TR

collegedunia:

India’s largest Student Review Platform




section 111

Section Id : 17856794
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questions to be attempted: 30
Section Marks: 90
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 178567142
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 1785675705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

|2,+|-2i+{2_]3+(-2}3=?

Options :

6
1

Question Number : 62 Question Id : 1785675706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The side of a square is 10 cm. How many times will the new perimeter become
if the side of the square is doubled ?

UH @ B ol 10 ¥ g1 A §9 T B qon B I B fFa A A aiRkEy
fepa=1 [T &1 W 7

Options :
2 times

1,211:17
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4 times

o &

6 fimes

B,GTT

S times

g% B

v

Question Number : 63 Question Id : 1785675707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

R2f x 3 =2

Options :
, 4096

1046
2096

3046

Question Number : 64 Question Id : 1785675708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

To gain 25% after allowing a discount of 10%, the shopkeeper must mark the
price of the article which costs him ¥ 360 as :
10% 92T & & 918, 25% T A A H34 & Y fbd gHER a1 T 360 T

Options :
1 <500

> 3450
5 T460

i % 436
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Question Number : 65 Question Id : 1785675709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The place value of zero in 134101 is:
1341.01 § I &1 WY 44 2

Options :

10

Question Number : 66 Question Id : 1785675710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Evaluate :

6202.5 + 620.25 + 62.025 + 6.2025 + 0.62025

Options :
6791.59775

1
63891.59775

6391.596/5

5891.59775

Question Number : 67 Question Id : 1785675711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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Company workers decided to raise Rs. 3 lakhs by equal contribution from each.
Had they contributed Rs. 50 each extra, the contribution would have been Rs.
3.25 lakhs. How many workers were they ?

FHFET FHAINRAT 5 U 9 9HH AFTE NI Yo 3 oG e &1 fAvga fhar ar|
afe 39 @FT 9 Bo 50 Ue faRaa AreE faar 2ar a1 arFeH $o 3.25 oE
g1 BT | A SR fhas @Harg o 7

Options :
300

1.

400

500

600

Question Number : 68 Question Id : 1785675712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Find the sum of first 30 natural numbers :
Ul 30 Widhfad GRS @ AFTHS &I ST DAY

Options :
470

Question Number : 69 Question Id : 1785675713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The ratio 5: 20 expreszed as percent equals to :
ufeed & ¥4 H e U 5 20 aREN E

Options :

50%

1.

collegedunia:

India’s largest Student Review Platform



Question Number : 70 Question Id : 1785675714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If the cost price of 15 tables is equal to the selling price of 20 tables, then the loss
percentage is:
afe 15 9l &1 Hd g4 20 590l & (9563 909 & avax g, df 81+ ufaee 2

Options :
20%

Question Number : 71 Question Id : 1785675715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

IfH C.F. (14,35) =7, then L. C. M. (14, 35) will be equal to:
e H.C.F.(14,35) =7, L. C. M. (14, 35) SRMEX 81T :

Options :
/0

~J
Ul

o
Jl
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Question Number : 72 Question Id : 1785675716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If a car travels at the speed of 72 km/hr, then the distance travelled by it in one
second is :
afe b dR 72 fdHlo/Ho DI TG | Foldl 8, df 1 Yhvs H 9Ud g a9 &I T
[
Options :

40 meter

40 Hiex

30 meter

30 HIcy

25 meter

5 25 Hiex

20 meter

20 HIex

Question Number : 73 Question Id : 1785675717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Out of her total income, Mrs. Dubey spends 20% on house rent and 70% of the
rest on household expenditure. If she saves Rs. 1,800, then her total income is :
AN Gd AT Bl A BT 20% HBM & (B W TAT 99 HT 70% ©Ne], Fd W
4 Bl &1 afe g8 To 1,800 B F9d Bl 8, T SADI Hel AT 2

Options :
Rs. 7,200
N 7,200 %o
Rs. 7,300
, 7,300 %o

Rs. 7,400
7 400 %o
2.
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Rs. 7,500
4 /7,500 %o

Question Number : 74 Question Id : 1785675718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

The compound interest on Rs. 25,600 for 2 years at 6.25% per annum is :
To 25,600 HT 6.25% d1fid X § 294 &1 Thdfa & 2
Options :

Rs. 2,800

2,800 %o

Rs. 3,000
3,000 %o

Rs. 3,300
3,300 Bo

Rs. 3,800
3,500 %o

Question Number : 75 Question Id : 1785675719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Suppose for the principal P, rate R% and time T, the simple interest is 5 and

compound interest is C. Consider the possibilities :
{19 AT fb Hoigs P, &% R% 31X §HY T, HIERY &ol S 3R w@shgfa @ama C 2|
=1 g R fdar I

i) €>6 i) €=56 (iii) C < S
Then :

dd -

Options :

Only (i) is correct

| P (i) §El B
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Either (i) or (ii) is correct

2‘?11#1 (i) a1 Y (ii) 9el 2

Either (i) or (iii) is correct

o A1 A (i) T1 Y (idd) HE B

Only (iii) is correct

4 Pac (iii) Tl 2

Question Number : 76 Question Id : 1785675720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The radii of two cylinders are in the ratio of 2 : 3 and their heights are in the
ratio of 5 : 3. The ratio of their volumes is :

&1 dor4l @l AN 2 - 3 & Fgurd | 2 9T SAD! Hargdl & AU 5 : 3 8| b
AT BT IS ©

Options :

y 10:17

20:27
17 :27

4 20:37

Question Number : 77 Question Id : 1785675721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The ratio of copper and zinc in an alloy is 5 : 3. If the weight of the copper in the
alloy is 30.5 grams, then the weight of zinc in the alloy is :

Ue A% arg 9 dfar 3R ST 1 U 5 ;3 21 afe 3% aig d dfd B AR 305
uH g, O A arg § 9 P 9R €

Options :
13.3 gm
) 183918

20.6 gm
5 20.6 ITH
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21.3 gm
21.3 74

224 gm
224 714

Question Number : 78 Question Id : 1785675722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

What will be the change in the volume of a cube when its side becomes 10 times
the original side ?

fsl &9 & Ty | F41 uRdc BT, dfE Sd! goll g7 Joil @i 10 T BT Wl
g 7

Options :
Volume becomes 1000 times

AT 1000 AT B S 2

Volume becomes 10 times
A 10 1 21 Ol 2@

Volume becomes 100 times
T 100 T[T 81 Wil 2

% s
times

Volume becomes

WLTH%TW%
3 1000

Question Number : 79 Question Id : 1785675723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

100 persons had food provision for 24 days. If 20 persons left the place, the
provision will last for :

100 =fdea & forg 24 &9 & 9ro= & agawen o | afs 20 @fda 39 ®©rF @ Bisa)
Tl A0, a1 9o fbas 999 & forv garg <& 7

Options :
30 days

lrzoﬁﬁ

[ ]
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da}-'s

&=

J |g Ul | g

120 days
5 120 fo=
40 days

4 4012

Question Number : 80 Question Id : 1785675724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What number must be subtracted from each term of the ratio 37 : 223 to make
theratio5:137?

87 : 223 U drell TWE@MSN H W BE-U G TS = H | Hel 4 W @
T U 5: 13 F1 B GF ?

Options :

B
L,

R

0

Question Number : 81 Question Id : 1785675725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The enrollment of students in a school increases from 560 to 531. Increase in
percentage in the enrollment of students is -

fdl Tho! § UAY UM arcl BT & & 560 W g 581 B Wl g1 Bl B
g | gfg &1 ufaee 2
Options :

3.75%
1.
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3.589%

Question Number : 82 Question Id : 1785675726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A monkey climbs 30 feet at the beginning of each hour and rests for a while
when he slips back 20 feet before he again starts climbing in the beginning of
the next hour. If he begins his ascent at 8.00 a.m., at what will he first touch a
tlag at 120 feet from the ground ?

Udh dq¥ Ucdd He @ YA J 30 Bic FW dedl 2 AR A€l °X & fow faum
YAl 2, W9 ITel °E B YHAT H R ¥ IS YT &Yl 2, d ugd 20 Hie e
Rgas Srar 2| afe 98 gag 8 aul Ul Fers Yo HYal &, O Jad UBd 98 TEHH |
120 W€ WX &o DI Hd G 7

Options :
4 p.m.
1s P

5p.m.
2 P

6 p.m.
=% P

Spm.
i p.m

Question Number : 83 Question Id : 1785675727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Find the amount of compound interest on Rs. 20,000 for 3 years compounded
annually. The rate of interest for first year is 5% and the rate of interest for next

two years is 10% :
Bo 20,000 FT 3 a9 P TAHYhG AT G BIfY AT @ATST Hiqad G g 2 |
Herd 99 H &S Y 5% 8 OT 3Tl &7 991 H &rd §X 10% @ ¢
Options :
Rs. 5,410

1 5410 %o
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Rs. 5,400
5,400 %o

Rs. 5450
5,450 %o

Rs. 5,430

4 248070

Question Number : 84 Question Id : 1785675728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

I invested Rs. 8,000 at simple interest, for 3 years at 8% per annum. How much
more would have been my retum, if I had invested it, at a compound interest

(compounded yearly) at ?’v_-,lf % per annum ?

H9 8,000 To 8% WERY =T &8 9 3 a9 @ forg war fean| afe § g9 afsr &
73 % difie =hgfg @ <X § (TS ufday "I g 8) S dar, dn fad
Sftr SR 31 AT B 7

Options :
L 141

L

o0

Question Number : 85 Question Id : 1785675729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes .
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

10 years ago the age of man is 5 years more than the four times of the son. 10
years hence the age of man is 5 years more than 2 times the age of son. The
present age of the man is :

10 99 Jd JreHl & A, AU dSd bl A1Y D AN [ F 5 99 s o1 | 10 99 B
qrg ATGH B Y AU oIS DI ARG B U F 5 99 A & Sl | e B
qaAH J 1Y €

Options :
45 years
45 99

40 years
40 99

o5 years

55 9

50 years
50 99

Question Number : 86 Question Id : 1785675730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If we buy 2 tickets from station A to station B and 3 from station A to C. We
have to pay Rs. 795. But 3 tickets from station A to B and 5 tickets from A to C
cost a total of Rs. 1,300. What is the fare from station A to C ?

e g9 2 fedhe I A 9 I B & forg 92 3 fedhe €99 A 9§ 99 C & v
TRId & ol §31 795 Bo o Usd & | fb=g 3 fedhe &1 A 9 B & fog @anm 5 fese
TI9 A9 CH fau §a 1,300 To o T8d & | IIH A 9 &9H C &7 fhvan fhaq
o # 7

Options :
Rs. 200

1 200 Jo

Rs. 75

o 75 Bo

Rs. 215

215 Ho
3 215 %

-

—
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Rs. 130

4 180 %o

Question Number : 87 Question Id : 1785675731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

An aeroplane take 1 hour more for a journey of 1000 km if its speed decrease by
50 km/hr from its usual speed. What is the usual speed of aeroplane ?

1000 fFdio &1 I=m & SR Ife Us BalE B U9 dRdfde =@ Bl 50
fpHlo/5eT 9 B ©, A Up Hcl e U9 oFdal 2| ga18 Sield &) andgidd ard
RIS ?

Options :
200 km/hr
200 fhHlo /HeT

240 kmm/hr
240 fhHlo /HET

250 km /hr
250 fhHlo /HET

300 km/hr
300 fHHIo /5eT

Question Number : 88 Question Id : 1785675732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

How many liters of water will have to be added to 1125 liters of 45% solution of
acid so that the resulting mixture will contain more than 25% but less than 30%
acid content ?

45% TS °id & 1125 @le § fohaar efiex a1 3R e foar o & &fE%a o
1 Tl 25% 9 Afgd T2 30% 9 &H 8 @ 7

Options :
More than 600 litres but less than 300 litres

" 600 Tlc 9 3Aferes =1 800 Tile W &H

Maore than 550 litres but less than 700 litres
, 550 offo ¥ 3iferes T2 700 ol 9 &H
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More than 562.5 litres but less than 900 litres
562.5 Tilo ¥ 3ifed o201 900 cile F &H

More than 560 litres but less than 350 litres
560 Fllo { 3ifge d2ur 850 #ilc ¥ &HH

Question Number : 89 Question Id : 1785675733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Sumoftheseries2+6+18+54+ ... . +4374is:

FMN2+6+18+54+ . . +4374 BT AT B :

Options :
i 6550

6560
2.

6660
C

6650
4.

Question Number : 90 Question Id : 1785675734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If one is added to the second digit of each number and one is substracted from

the third digit of each number and then if the first and third digits of each

number are interchanged, then which number will be lowest ?

IS Ucd G & N 3d H Ud Slsl Wil 8 SR Udd §&I & AN 3@ 9 U
gel faar orar 2 SR R IS uche W& & Ugd SR N 3fd B AT H Uec

fear 2 91 -9 9= 999 $H9 2601 7

Options :

1 473

2
o 563

382
2

-

el
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Section Id :
Section Number :
Section type :

Mandatory or Optional:
Number of Questions:
Number of Questions to be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Sub-Section Number:
Sub-Section Id:

Question Shuffling Allowed :

section IV Verbal Abihity English

17856795
4

Online
Optional
30

30

90

Yes

No

1
178567143
Yes

Question Number : 91 Question Id : 1785675735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Select the word nearest in meaning to the given word :

Curtail :

Options :

crush

0
o CT ok

reduce
=,

finish

Question Number : 92 Question Id : 1785675736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Select the word nearest in meaning to the given word :

Hectic :

Options :
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feverish
rash
bold

zaintly

Question Number : 93 Question Id : 1785675737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word nearest in meaning to the given word :

Expedite :

Options :

exhaust
1.

delay
gladden

speed up

Question Number : 94 Question Id : 1785675738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word nearest in meaning to the given word :

Destitute -

Options :

i CDHlPElCt

poor
2,

complicated

3
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troublezome
4.

Question Number : 95 Question Id : 1785675739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word opposite in meaning to the given word :

thaw -

Options :
mild
i

freeze

terrify
o ;

concise

Question Number : 96 Question Id : 1785675740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

Select the word opposite in meaning to the given word :

garnish :

Options :

renounce
d.

examune
2.

app ot
3.

disficure
4 g

Question Number : 97 Question Id : 1785675741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question
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Select the word opposite in meaning to the given word :

maorose :

Options :
tender

stable
2.

jovial
5

j watchful

Question Number : 98 Question Id : 1785675742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word opposite in meaning to the given word :
grubby :

Options :

neat
i

wasteful
2

harsh
.

kind
4.

Question Number : 99 Question Id : 1785675743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the correct meaning of the given idiomatic expression :

Run after -

Options :
communciate

pursue
2.
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rectify
o lf\

pl:lint out

Question Number : 100 Question Id : 1785675744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the correct meaning of the given idiomatic expreszion :

Put off :

Options :

: defeat

switch off
puztp::me

settle down

Question Number : 101 Question Id : 1785675745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the correct meaning of the given idiomatic expression :

Get through :

Options :

Pass
1.

resist

go through
3.

i burn down

Question Number : 102 Question Id : 1785675746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question

Select the correct meaning of the given idiomatic expression :

By and by :

Options :

1 briefly

hurriedly

generall_\'

s00mn

Question Number : 103 Question Id : 1785675747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the right word to fill in the blanks in the given sentence :

He sat for hoursjust ... into space.

Options :

peeping
1.

gazing
2.

zeei.ng
3.

noticing
4.

Question Number : 104 Question Id : 1785675748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the right word to fill in the blanks in the given sentence :

A memorial stonewas _............... to thosze who were killed in the war.

Options :

ormamented
1.
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dedicated
s

. founded

precinua
4.

Question Number : 105 Question Id : 1785675749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUltip]E Choice Question

Select the right word to fill in the blanks in the given sentence:

Hewasutterdy ..........e when his wife died.

Options :

bereft
1.

bold
2.

excited
3.

cheerful
4.

Question Number : 106 Question Id : 1785675750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the right word to fill in the blanks in the given sentence :

When it came to cleaning up atterwards, Aratiwas .............__ by her absence.

Options :

y consistent

familiar
Z

CONSPICUous
=

notorious
4.
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Question Number : 107 Question Id : 1785675751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the correct option to torm the right sentence :

................ is a good book.

Options :

M~y
d. ]

His
2.

Her

Your

Question Number : 108 Question Id : 1785675752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUltip]E Choice Question

Choose the correct option to form the right sentence :

________________ did I reach the platform than the train started.

When

No =ooner

Question Number : 109 Question Id : 1785675753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the correct option to form the right sentence :

Anelephant .._......... ... :

Options :
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roars

ats
5 blea

= trump ets

gron vis

Question Number : 110 Question Id : 1785675754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Choose the correct option to form the right sentence :

AT of mules arrived at once.

Options :

flock
1.

line
2.

group

ack
4 P

Question Number : 111 Question Id : 1785675755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Select the part of speech of the underlined words in the given sentence :

The train was moving very fast.

Options :
1ol

adjective
2.4

adverb
3.

verb
4.
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Question Number : 112 Question Id : 1785675756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the part of speech of the underlined words in the given sentence :

He was very friendly with us.

Options :
1o

adjective
2.4

3 adverb

i verb

Question Number : 113 Question Id : 1785675757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the part of speech of the underlined words in the given sentence :

She is not a scholar.

Options :

1o
1.

adjective
2

adverb
o

4 determiner

Question Number : 114 Question Id : 1785675758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the part of speech of the underlined words in the given sentence :

Though he is poor, he is generous.

Options :
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prepu&itinn
1.

conjunction
2.

determiner
=

interjection
4,

Question Number : 115 Question Id : 1785675759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Fill in the blank with the correct preposition:

Hewasaccused ................ ztealing a book.

Options :
with

in
from

of

Question Number : 116 Question Id : 1785675760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blank with the correct preposition:

YIVE vcicsaiiate campus.

o1l

at
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Question Number : 117 Question Id : 1785675761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blank with the correct preposition:

Joha was debarred ................ appearing at the examination.

Options :

1 bf"

from
2.
with

n

Question Number : 118 Question Id : 1785675762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Select the word which has been correctly spelt :

Options :
; C omparison

5 L omperison

4 Comparision

4 Comperision

Question Number : 119 Question Id : 1785675763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word which has been cnrrectl}' spelt ,

Options :
; l:nrigne
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5 Forign

4 F oreigne

Question Number : 120 Question Id : 1785675764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Select the word which has been correctly spelt :

Options :
) Erup erintendant

Superi tendent
Elup eritendant

Superint endent

section IV Verbal Abihity Hindi

Section Id :

Section Number :

Section type :

Mandatory or Optional:

Number of Questions:

Number of Questions to be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

17856796
5

Online
Optional
30

30

90

Yes

No

]
178567144
Yes

Question Number : 121 Question Id : 1785675765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
fedc) T fhdd ATH W AT AT 2 7

Options :
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Question Number : 122 Question Id : 1785675766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :
1. :

, Tl eriraTa

Question Number : 123 Question Id : 1785675767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

b
[

g4 9 I I D hid h ©Y J A= T 8 7

Options :

Question Number : 124 Question Id : 1785675768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Options :

lafﬂl‘rramam

5 T SR a1

41%1?“&17@3@"3?1??:

Question Number : 125 Question Id : 1785675769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Harded fddd] $id & 7

Options :

& EEE
42'1'{'“5’1 \:!!fi{"!

Question Number : 126 Question Id : 1785675770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

g4 9 HiF 9fad &1 & hid FET € 7

Options :

lé‘FFTmeﬁ’

FHalN ST
3
2 .

4?@4?@
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Question Number : 127 Question Id : 1785675771 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Hiaferd SUTH & U 5 foud! @fg 2 ?

Options :
, Hafe Jaad 349 e

5 qﬂ RIEEIER

3 (& I 9d

Question Number : 128 Question Id : 1785675772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

.:{-rq aﬁ EH?F!.\ ._I-.I\';” |F¥JQ%F5FI QT]HI g ?

Options :
i THENG SUTATd

T IRTEAT

Question Number : 129 Question Id : 1785675773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

3 g fpas ofd g ?

Options :

5 GHST BANI ST

3WW
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Question Number : 130 Question Id : 1785675774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

GG P GUISd hia o ?

Options :

1 ”.\. i"':-di | T:I:I-':j

5 ”fiﬂ rJf} < ii'ﬁ

o TR JHIE AGaS

4 g4 gygre fagaal

Question Number : 131 Question Id : 1785675775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

fE=1 auiETen &1 F b S @i & AT g g ?
Options :
y g Ee

Question Number : 132 Question Id : 1785675776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

STH A B AV € T B IA=eg T8 & 7
Options :

™
L
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Question Number : 133 Question Id : 1785675777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

g4 § I GYa oA T81 ¢ 7

Options :

g &

Question Number : 134 Question Id : 1785675778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

.;]._[ & d ':!"j“ t! _:l.- E! ;
Options :

l ..'H -} fqllt

Question Number : 135 Question Id : 1785675779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

TS § b o7 9eei B §f E ?
Options :

; T + S
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3G + i

4@%+J'I"TTH

Question Number : 136 Question Id : 1785675780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

94 ¥ WX 4 &1 SSE hiF 8 7

Options :

Question Number : 137 Question Id : 1785675781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

THA & [AER® 9eg a4 & o0 399 9 59 SUET &1 93T febar S ?

Options :

HI
§

Question Number : 138 Question Id : 1785675782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Options :

collegedunia:

India’s largest Student Review Platform



4{!'41

HI

Question Number : 139 Question Id : 1785675783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

=4 O 5 g | SUsT &1 warT 98 8 7

Options :

, T

Question Number : 140 Question Id : 1785675784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :

, &

Question Number : 141 Question Id : 1785675785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Options :

i faare

2

o

< l

Question Number : 142 Question Id : 1785675786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Gl &9 B A B 2, I ;T Fal ?

Options :

Question Number : 143 Question Id : 1785675787 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :
| W% H S i €
5 HIRG | 390! ifad £ |

Bqum?l

4 HING 3}' 3 :1'-’5 SIG ?1
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Question Number : 144 Question Id : 1785675788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

TG AT BT Sib A T 7 ?

Options :

1 ;i"-.;lq :T_‘:l- i=|;||

3@4@1@@

4 TG B

Question Number : 145 Question Id : 1785675789 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

HIE-9T¢ &1 U= 9T 67 39 8

Options :

, ART-ART RG]

e H fae ofF 8

W PIESRGIEG]

Question Number : 146 Question Id : 1785675790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

T @ FH RSP B B BH-G1 8 7

Options :

T

5 9P
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Question Number : 147 Question Id : 1785675791 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

|

g4 Hradrad Hsll B9 § 7

Options :

Srenr
1.

Question Number : 148 Question Id : 1785675792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
[ T IUBN BT TeHH HH- dTel Afdd T 77 Hal ¢

Options :

Question Number : 149 Question Id : 1785675793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

rﬂr_;](—rl O¥ a-d7d T4 -.:]A] bl T rf;c::ﬂ :

Options :

G
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Question Number : 150 Question Id : 1785675794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :

i
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